7\
AY4
n
1]
=
un
L

;a@
g

oy
i

00
P

\/ \/ | ° 3‘
o34 o34

b
i

3.1
<32 <32

3.1 26— g»

© 2024 Hansa Armaturen GmbH - www.hansa.com - 03.04.2024

06439093 HANSALIGNA - Fertigmontageset fiir Wanne/Brause, 75x75 mm

EAN: 4015474277021

static.hansa.com/06439093

Ersatzteile
SP06439093
Name Art.-Nr.
1 Hebel Chrom 59913650
11 Schraube, M5x8, SW2.5 59904755
13 Dekorkappe Grau 59912112
2 Abdeckkappe, 33x3 mm Chrom 59912504
23 Abdeckhiilse Chrom 59913275
3 Rosette, 75x75 mm Chrom 59914213
31 Rosette, 75x75 mm Chrom 59914214
32 0-Ring, 49x2 59913279
33 0-Ring, 60x3 59913280
34 0-Ring, d 40x2 59911507
5 Umstellknopf Chrom 59913283
51 Stift, M6, 21 mm Chrom 59913284
52 Abdeckhiilse 59914215
53 Schraube, M5x6, SW2.5 59912617
5.4 Durchflussbegrenzer 59911897
9 Brauseschlauch, L=1750, G1/2-M12x1 Chrom 59912281
9.1 Dichtungsring, d 21x12x2 59912304
92 Riickflussverhinderer 59905714
93 Rosette, 75x75 mm Chrom 59913879
95 Halter Chrom 59913289
9.6 Scheibe 59912337
9.7 Schraube, M4x45 59912291
9.8 Schlauchdurchfiihrung 59913288
10 Handbrause Chrom 54390100
10.1 Sieb 59906859
NI Handbrause, (-2018) Chrom 04320200
N.I. Verlangerungssatz, 30 mm 59913190
NI, Verldngerungssatz, 30 mm, HM 3.5 (-2015) 59913189
NI Verldngerungsschraubensatz, (2015-) 59914337

1


https://static.hansa.com/06439093

